

Advances in Mathematics: Scientific Journal **10** (2021), no.6, 2865–2876 ISSN: 1857-8365 (printed); 1857-8438 (electronic) https://doi.org/10.37418/amsj.10.6.13

## ON CONJUGATE OF SUB E-FUNCTIONS

Nashat Faried, Mohamed S.S. Ali, and Asmaa A. Badr<sup>1</sup>

ABSTRACT. The aim of this article is to introduce the definition of the conjugate of sub E-functions, which plays an important role in linking the concept of duality among sub E-functions. Furthermore, some properties for this class are established.

### 1. INTRODUCTION

Suppose that  $f : I \to \mathbb{R}$  is a convex function on the interval I of real numbers and  $a, b \in I$  along with a < b. There are a lot of generalizations of the concept of convex functions see [2, 3, 11]. One way to generalize the concept of convex function is to replace linear functions by another family of functions in the sense of Beckenbach [2]. In 2016, Mohamed S. S. Ali [1] introduced sub *E*-functions by dealing with a family  $\{E(x)\}$  of exponential functions

$$E(x) = A \exp Bx,$$

where A, B are arbitrary constants. More precisely, [1] a positive function  $f : I \to (0, \infty)$  is said to be a sub *E*-function on *I*, if for all  $x \in [a, b] \subset I$ ,

$$f(x) \le E(x),$$

<sup>1</sup>corresponding author

<sup>2020</sup> Mathematics Subject Classification. 26A51, 26B25, 42A50.

*Key words and phrases.* Generalized convex functions, supporting functions, conjugate functions.

Submitted: 31.05.2021; Accepted: 14.06.2021; Published: 22.06.2021.

where A and B are chosen such that E(a) = f(a), and E(b) = f(b). In this paper, we deal with this family  $\{E(x)\}$  of exponential functions.

In fact, the topic of conjugate convex functions really originates in the paper of Young [14]. This topic has evoked many interests ([10], [5] and [9]), after the work of Fenchel. In [6] and [7] Fenchel greatly generalized the whole idea and applied it to a programming problem. In [12], the optimal solution for the maximum range was interpreted geometrically using the concept of a convex conjugate function. Furthermore, the conjugate convex functions have numerous applications mentioned in [8, 10, 12]. Also, in physical problems [13, 15], the conjugate convex is used to convert functions of one quantity (such as position, pressure, or temperature) into functions of the conjugate quantity (momentum, volume, and entropy, respectively). In this way, it is commonly used in classical mechanics to derive the Hamiltonian formalism out of the Lagrangian formalism and in thermodynamics to derive the thermodynamic potentials, as well as in the solution of differential equations of several variables.

The objective of the present paper is to define a conjugate of sub *E*-functions on the real line  $\mathbb{R}$ .

#### 2. DEFINITIONS AND PRELIMINARY RESULTS

This section is devoted to introduce the main definitions and results about sub E-functions see [1], which will be used in the following.

**Definition 2.1.** [1] A positive function  $f : I \to (0, \infty)$  is said to be a sub *E*-function on *I*, if for all  $a, b \in I$  with a < b, the graph of f(x) for  $a \le x \le b$ , lies on or under the graph of a function

$$E(x) = Ae^{Bx},$$

where A and B are taken so that E(a) = f(a), and E(b) = f(b). Equivalently, for all  $x \in [a, b]$ ,

(2.1) 
$$f(x) \leq E(x)$$
$$= exp\left[\frac{(b-x)\ln f(a) + (x-a)\ln f(b)}{b-a}\right]$$

There is more than one form for the function E(x) other than that stated in (2.1); for example,

$$E(x) = f(a)e^{B(x-a)}; \ B = \frac{\ln f(b) - \ln f(a)}{b-a},$$

or in a multiplicative formula

$$E(x) = [f(a)]^{\frac{b-x}{b-a}} \cdot [f(b)]^{\frac{x-a}{b-a}}$$

**Remark 2.1.** [1] The sub *E*-functions possess a number of properties analogous to those of convex functions. For example: Let  $f : I \to (0, \infty)$  be a sub *E*-function, then for all  $a, b \in I$ , the inequality  $f(x) \ge E(x)$  holds outside the interval [a, b].

**Definition 2.2.** [4] Assume that  $f : I \to (0, \infty)$  is a sub *E*-function, then a function

$$T_u(x) = Ae^{Bx}$$

is called a supporting function for f(x) at the point  $u \in (a, b)$  if

(1)  $T_u(u) = f(u);$ (2)  $T_u(x) \le f(x) \ \forall x \in I.$ 

That is, if f(x) and  $T_u(x)$  agree at x = u, then the graph of f(x) lies on or above the support curve.

**Proposition 2.1.** [1] Let  $f : I \to \mathbb{R}$  be a differentiable sub *E*-function, then the supporting function for f(x) at the point  $u \in I$  has the formula

(2.2) 
$$T_u(x) = f(u) \exp\left[(x-u)\frac{f'(u)}{f(u)}\right]$$

**Proposition 2.2.** [1] For a sub *E*-function  $f : I \to (0, \infty)$ , the supporting function written at  $u \in I$  in the following formula

$$T_u(x) = f(u) \exp\left[(x-u)\frac{M_{u,f}}{f(u)}\right].$$

The constant  $M_{u,f}$  is equal to f'(u) if f is differentiable at the point  $u \in I$ ; otherwise  $f'_{-}(u) \leq M_{u,f} \leq f'_{+}(u)$ .

**Theorem 2.1.** [1] If  $f : I \to (0, \infty)$  is a two-times continuously differentiable function. The function f is a sub *E*-function on I if and only if  $f(x)f''(x) - (f'(x))^2 \ge 0$  for all x in I.

**Theorem 2.2.** [1] Supposed that a function  $f : I \to (0, \infty)$  is a sub *E*-function on *I* if and only if there exist a supporting function for f(x) at each point  $x \in I$ .

# 3. MAIN RESULTS

**Lemma 3.1.** Let A be a nonempty, bounded subset of  $\mathbb{R}$ . If  $f : A \to \mathbb{R}$ , is an increasing function and continuous on A. Then

(3.1) 
$$f(\sup A) = \sup(f(A)).$$

*Proof.* From the definition of the supremum,

$$x \le \sup(A), \quad \forall x \in A,$$

since f is increasing, we have

$$f(x) \le f(\sup(A)), \quad \forall x \in A$$

Hence,

$$(3.2) \qquad \qquad \sup(f(A)) \le f(\sup(A)).$$

Also, let  $y = \sup(A)$ . Consequently,  $\forall \epsilon > 0, \exists x_0 \in A$ , such that  $y \ge x_0 > y - \epsilon$ . Implies,  $\forall \frac{1}{n} > 0, \exists x_n \in A$ , such that

$$y - \frac{1}{n} < x_n \le y.$$

From the squeeze theorem, we obtain that

$$\lim_{n \to \infty} (x_n) = y$$

Since f is continuous on A, then f is continuous at y, so we get

$$\lim_{n \to \infty} f(x_n) = f(y).$$

This implies,  $\forall \epsilon > 0, \exists n_0 \in \mathbb{N}$  such that

$$|f(x_n) - f(y)| \le \epsilon$$
, when  $n \ge n_0$ ,

consequently,

$$f(y) = f(y) - f(x_n) + f(x_n)$$
  

$$\leq |f(y) - f(x_n)| + f(x_n)$$
  

$$\leq \epsilon + f(x_n), \quad \forall n \geq n_0$$
  

$$\leq \epsilon + \sup f(A).$$

Since  $f(y) - \sup f(A) \le \epsilon, \forall \epsilon > 0$ . Then

(3.3) 
$$f(\sup(D)) = f(y) \le \sup f(D)$$

From inequalities (3.2) and (3.3), then the equation (3.1) is hold.

**Lemma 3.2.** Let  $f_{\alpha}: I \to (0, \infty)$  be an arbitrary family of a sub *E*-functions and

(3.4) 
$$f(x) = \sup_{\alpha} (f_{\alpha}(x)).$$

If  $J = \{x \in I : f(x) < \infty\}$  is nonempty, then  $f : J \to (0, \infty)$  is sub *E*-function.

*Proof.* Let  $x \in [a, b] \subseteq J \subseteq I$ , since  $f_{\alpha}(x)$  is a sub *E*-function for all  $\alpha$ , by using Inequality (2.1) and Equation (3.4). Then,

$$f(x) = \sup_{\alpha} (f_{\alpha}(x))$$
  

$$\leq \sup_{\alpha} \left( exp \left[ \frac{(b-x)\ln f_{\alpha}(a) + (x-a)\ln f_{\alpha}(b)}{b-a} \right] \right).$$

Since the exponential function is continuous and increasing, and by using Lemma 3.1, we get

$$f(x) \leq exp\left(\sup_{\alpha} \left[\frac{(b-x)\ln f_{\alpha}(a) + (x-a)\ln f_{\alpha}(b)}{b-a}\right]\right)$$
$$= exp\left[\frac{(b-x)\sup_{\alpha}\ln f_{\alpha}(a) + (x-a)\sup_{\alpha}\ln f_{\alpha}(b)}{b-a}\right].$$

Since the logarithmic function is continuous and increasing, and by using Lemma 3.1, we get

$$f(x) \leq exp\left[\frac{(b-x)\ln\sup_{\alpha}f_{\alpha}(a) + (x-a)\ln\sup_{\alpha}f_{\alpha}(b)}{b-a}\right]$$
$$= exp\left[\frac{(b-x)\ln f(a) + (x-a)\ln f(b)}{b-a}\right].$$

Then, from Definition 2.1, we have  $f(x) = \sup_{\alpha} f_{\alpha}(x)$  is a sub *E*-function.  $\Box$ 

**Theorem 3.1.** Let  $f : I \to (0, \infty)$  be a sub *E*-function. Then

(3.5) 
$$f^*(z) = \sup_x \frac{e^{xz}}{f(x)}$$

is a sub *E*-function with domain  $I^* = \{z \in \mathbb{R} : f^*(z) < \infty\}$ , for all  $z \in I^*$ .

2869

*Proof.* We first note that  $I^* \neq \emptyset$ . If *I* is single point  $x_0$ , then, from Proposition 2.1 and 2.2, we have that

$$T_{x_0}(x) = f(x_0) \exp[(x - x_0)z]$$

is a support function for f for each  $z \in \mathbb{R}.$  Otherwise, we pick any interior point  $x_0,$  choose

$$z \in [\frac{f'_{-}(x_0)}{f(x_0)}, \frac{f'_{+}(x_0)}{f(x_0)}],$$

and again  $T_{x_0}(x)$  will be a support function for f. In either case,

$$T_{x_0}(x) \leq f(x); \quad \forall x \in I$$

$$f(x_0) \exp[(x - x_0)z] \leq f(x); \quad \forall x \in I$$

$$\frac{e^{xz}}{f(x)} \leq \frac{e^{x_0z}}{f(x_0)}; \quad \forall x \in I.$$

For this choice  $z, f^*(z) < \infty$  and  $I^* \neq \emptyset$  as claimed. Let  $u, v \in I^*$  such that  $z = \lambda u + (1 - \lambda)v$ , where  $\lambda \in [0, 1]$ , and let

$$g(z) = \frac{e^{xz}}{f(x)}.$$

Consequently,

$$g(z) = g(\lambda u + (1 - \lambda)v)$$

$$= \frac{e^{x(\lambda u + (1 - \lambda)v)}}{(f(x))^{\lambda + (1 - \lambda)}}$$

$$= \exp\left[\ln\left(\frac{e^{xu}}{f(x)}\right)^{\lambda}\left(\frac{e^{xv}}{f(x)}\right)^{1 - \lambda}\right]$$

$$= \exp[\lambda \ln g(u) + (1 - \lambda) \ln g(v)]$$

Taking

$$\lambda = \frac{v-z}{v-u}$$
, and  $1-\lambda = \frac{z-u}{v-u}$ ,

we get

(3.7) 
$$g(z) = \exp\left[\frac{(v-z)\ln g(u) + (z-u)\ln g(v)}{v-u}\right].$$

From Definition 2.1, and (3.7) we get g(z) is sub *E*-function. By using Lemma 3.2, we obtain that

$$f^*(z) = \sup_x g(z)$$

is a sub *E*-function.

**Definition 3.1.** If  $f : I \to (0, \infty)$  is a sub *E*-function, then  $f^* : I^* \to (0, \infty)$  will denote the conjugate of sub *E*-function defined by

(3.8) 
$$f^*(z) = \sup_x \frac{e^{xz}}{f(x)},$$

with domain  $I^* = \{z \in \mathbb{R} : f^*(z) < \infty\}.$ 

**Example 1.** let  $f(x) = 1/\sin x$ , for all  $x \in (0, \pi)$  be a sub *E*-function. Consequently, its conjugate

$$f^*(z) = \begin{cases} e^{xz}, & z \ge 0\\ 1, & z < 0. \end{cases}$$

is a sub *E*-function.

By Definition 3.1, we get

$$f^*(z) = \sup_x \frac{e^{xz}}{f(x)} = \sup_x (e^{xz} \sin x).$$

**Case 1.** If  $z \ge 0$ , and from  $0 < x < \pi$  and  $\sin x \le 1$  we get

$$\begin{aligned} xz &\leq \pi z \\ e^{xz} &\leq e^{\pi z} \\ e^{xz} \sin x &\leq e^{\pi z}; \forall x \in (0,\pi) \end{aligned}$$

Then

$$f^*(z) = \exp[\pi z].$$

Let  $z_1, z_2 \in I^*$  such that  $z \in [z_1, z_2]$ , we have

$$f^{*}(z) = \exp[\pi(\lambda z_{1} + (1 - \lambda)z_{2})]; \lambda \in [0, 1]$$
  
= 
$$\exp[\ln(e^{\pi z_{1}})^{\lambda} + \ln(e^{\pi z_{2}})^{1 - \lambda}].$$

Taking

$$\lambda = \frac{z_2 - z}{z_2 - z_1},$$

we have

$$f^*(z) = \exp\left[\frac{(z_2 - z)\ln(\exp[\pi z_1]) + (z - z_1)\ln(\exp[\pi z_2])}{z_2 - z_1}\right]$$

Then, from Definition 2.1, we get  $f^*(z) = \exp[\pi z]$  for all  $z \in I^*$ .

**Case 2.** If z < 0, and from  $0 < x < \pi$  and  $\sin x \le 1$  we have

$$\begin{aligned} xz &< 0\\ e^{xz} &< e^0\\ e^{xz}\sin x &< 1. \end{aligned}$$

Consequently,

$$f^*(z) = \sup e^{xz} \sin x = 1$$

is a sub *E*-function by using Theorem 2.1.

**Theorem 3.2.** Let  $f : I \to (0, \infty)$  be a sub *E*-function. Then its conjugate  $f^* : I^* \to (0, \infty)$  is also a sub *E*-functions and

(k1):  $\exp(xz) \le f(x)f^*(z)$ . (k2): If f is differentiable then  $\exp(xz) = f(x)f^*(z)$ , if, and only if, z = f'(x)/f(x). (k3):  $f^{**} = f$ .

*Proof.* We know from Theorem 3.1 that  $f^*$  is A sub *E*-function.

(k1): From definition of  $f^*$  and definition of supremum, we get

$$\frac{e^{xz}}{f(x)} \le f^*(z); \quad \forall x \in I.$$

Since *f* is sub a *E*-convex function implies f(x) > 0,  $\forall x \in I$ , we get

$$\exp(xz) \le f(x)f^*(z).$$

(k2): To prove the necessity, by differentiating,

(3.10) 
$$\exp(xz) = f(x)f^*(z),$$

with respect to x, we have

(3.11) 
$$z \exp(xz) = f'(x)f^{*}(z) \\ z = f'(x)\frac{f^{*}(z)}{\exp(xz)}.$$

Since  $f^*$ , f are sub E-functions, we have  $f^*(z) > 0$ , f(x) > 0 for all  $z \in I^*$ ,  $x \in I$  and from (3.10), one obtains

(3.12) 
$$\frac{f^*(z)}{\exp(xz)} = \frac{1}{f(x)}.$$

Substituting (3.12) in (3.11), follows that

$$z = \frac{f'(x)}{f(x)}.$$

To show sufficiency, let

(3.13) 
$$z = \frac{f'(x)}{f(x)}$$

Integrating both sides of (3.13), gives

$$\int_{x_0}^{x} z dx = \int_{x_0}^{x} \frac{f'(x)}{f(x)} dx$$

for all  $x, x_0 \in I$ . We observe that

$$z(x - x_0) = \ln f(x) - \ln f(x_0)$$
  

$$\exp(xz - x_0 z) = \frac{f(x)}{f(x_0)}$$
  
(3.14) 
$$\frac{\exp xz}{f(x)} = \frac{\exp x_0 z}{f(x_0)}.$$

By Definition 2.1, we have that  $T_{x_0}(x)$  is a support function of f at  $x_0 \in I$ , and from Proposition 2.2, we get

$$T_{x_0}(x) = f(x_0) \exp\left[(x - x_0)\frac{f'(x)}{f(x)}\right] \le f(x) \quad \forall x \in I.$$

From (3.13) and f(x) > 0 for all  $x \in I$ , we receive

(3.15)  

$$f(x_0) \exp(xz - x_0 z) \leq f(x)$$

$$\frac{\exp xz}{f(x)} \leq \frac{\exp x_0 z}{f(x_0)} \quad \forall x \in I$$

$$\sup_x \frac{\exp xz}{f(x)} \leq \frac{\exp x_0 z}{f(x_0)} \quad \forall x \in I$$

$$f^*(z) \leq \frac{\exp x_0 z}{f(x_0)} \quad \forall x \in I.$$

N. Faried, M.S.S. Ali, and A.A. Badr

Substituting (3.14) in (3.15), we obtain

$$f^*(z) \leq \frac{\exp xz}{f(x)}$$

(3.16)  $f^*(z)f(x) \le \exp(xz).$ 

From (3.9) and (3.16), hence

$$\exp(xz) = f^*(z)f(x).$$

**Remark 3.1.** If f is not differentiable, then  $\exp(xz) = f(x)f^*(z)$ , if, and only if,  $z = K_{x,f}$ , where  $K_{x,f} \in [\frac{f'_-(x)}{f(x)}, \frac{f'_+(x)}{f(x)}]$ .

(k3): From (3.8) and the definition of supremum, we get

(3.17) 
$$\frac{\exp(xz)}{f(x)} \le f^*(z) \quad \forall x \in I, \ \forall z \in I^*.$$

Since  $f^*$  is a sub *E*-function, we have that  $f^*(z) \ge 0 \quad \forall z \in I^*$ , consequently from (3.17):

$$\frac{\exp(xz)}{f^*(z)} \le f(x) \quad \forall x \in I, \quad \forall z \in I^*.$$

Then

$$\sup_{z} \left[ \frac{\exp(xz)}{f^*(z)} \right] \le f(x).$$

Using Definition 3.1 and the above inequality, we obtain that

(3.18) 
$$f^{**}(x) \le f(x),$$

for all  $x \in I$  and for all  $x \in I^{**}$ . Since

(3.19) 
$$f^{**}(x) = \sup_{z} \left[ \frac{\exp(xz)}{f^*(z)} \right] \quad \forall x \in I^{**},$$

hence,

$$\frac{\exp(xz)}{f^*(z)} \le f^{**}(x)$$

$$\exp(xz) \le f^{**}(x)f^*(z).$$

By  $f(x) \ge 0$ , and the above inequality, we have

$$\frac{\exp(xz)}{f(x)} \leq \frac{f^{**}(x)f^{*}(z)}{f(x)}$$
$$\sup_{x} \left[\frac{\exp(xz)}{f(x)}\right] \leq \frac{f^{**}(x)f^{*}(z)}{f(x)}$$
$$f^{*}(z) \leq \frac{f^{**}(x)f^{*}(z)}{f(x)}.$$

Hence,

(3.20) 
$$f(x) \le f^{**}(x).$$

From (3.18) and (3.20), we obtain that

(3.21) 
$$f^{**}(x) = f(x),$$

for all  $x \in I$  and for all  $x \in I^{**}$ . Consequently,  $I = I^{**}$  and we have

(3.22) 
$$f^{**} = f.$$

REFERENCES

- [1] M.S.S. ALI: On certain properties for two classes of generalized convex functions, Abstract and Applied Analysis, **2016** (2016), 7 pages.
- [2] E.F. BECKENBACH: Generalized convex functions, Bulletin of the American Mathematical Society, 43(6) (1937), 363–371.
- [3] E.F. BECKENBACH, R.H. BING: *On generalized convex functions*, Transactions of the American Mathematical Society, **58** (1945), 220–230.
- [4] F.F. BONSALL: *The Characterization of generalized convex functions*, The Quarterly Journal of Mathematics Oxford Series, **1** (1950), 100–111.
- [5] N. FARIED, M.S.S. ALI, A.A. BADR: On conjugate trigonometrically *ρ*-convex functions, Italian Journal of Pure and Applied Mathematics, **2020**(43) (2020), 603–616.
- [6] W. FENCHEL: *On conjugate convex functions*, Candian Journal of Mathematics, **1** (1949), 73–77.
- [7] W. FENCHEL: Convex Cones, Sets and Functions, mimeoeographed lecture notes, Princeton Univ. Press, Princeton, New Jersey, 1953.
- [8] B. GARDINER, K. JAKEE, Y. LUCET: Computing the partial conjugate of convex piecewise linear-quadratic bivariate functions, Comput. Optim. Appl., **58** (2014), 249–272.

#### N. Faried, M.S.S. Ali, and A.A. Badr

- [9] C. LÉONARD: Convex conjugates of integeral functionals, Acta Mathematica Hungarica, **93** (2001), 253–280.
- [10] I. NOTARNICOLA, G. NOTARSTEFANO: Asynchronous distributed optimization via randomized dual proximal gradient, IEEE Transactions on Automatic Control, 62(5) 2017, 2095–2106,
- [11] M.M. PEIXOTO: Generalized Convex Functions and Second Order Differential Inequalities, Bulletin of the American Mathematical Society, 55(6) (1949), 563–572.
- [12] L. RODRIGUES: A unified optimal control approach for maximum endurance and maximum range, IEEE Transactions on Aerospace and Electronic Systems, **54**(1) 2018.
- [13] C. RICHARD AND H. DAVID: Methods of Mathematical Physics, John Wiley & Sons, II 1989, ISBN 978-0471504399.
- [14] W. H. YOUNG: On classes of summable functions and their Fourier series, Proc. R. Soc. Lond., 87 (1912), 225–229.
- [15] R. K. P. ZIA, E. F. REDISH, S. R. MCKAY: Making sense of the Legendre transform, American Journal of Physics, 77(7) 2009.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, AIN SHAMS UNIVERSITY, CAIRO, EGYPT. *Email address*: n\_faried@hotmail.com

DEPARTMENT OF MATHEMATICS, FACULTY OF EDUCATION AIN SHAMS UNIVERSITY, CAIRO, EGYPT. *Email address*: mss\_ali5@yahoo.com

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, AIN SHAMS UNIVERSITY, CAIRO, EGYPT. *Email address*: asmaaashour@edu.asu.edu.eg